
Vectors and Coordinates 

(a) (c) (e) 

𝐴𝐵𝐶𝐷 is a parallelogram. 

𝐴𝐵⃗⃗⃗⃗  ⃗ = (
−2
3

) and 𝐴𝐷⃗⃗ ⃗⃗  ⃗ = (
3
5
)  

Given that the coordinates of 𝐴 are (3, 1), 
find the coordinates of points 𝐵, 𝐶 and 𝐷. 

 

𝐴𝐵𝐶𝐷 is a parallelogram. 𝐵𝐶⃗⃗⃗⃗  ⃗ = (
3
2
) 

The coordinates of 𝐴 are (2, 7) and of 𝐵 

are (8, 3). Find the coordinates of 𝐶 and 

𝐷, and the vector 𝐷𝐶⃗⃗⃗⃗  ⃗. 
 

 

𝐴𝐵𝐶𝐷 is a trapezium. 𝐴𝐵⃗⃗⃗⃗  ⃗ = 2𝐷𝐶⃗⃗⃗⃗  ⃗. 

 𝐷𝐶⃗⃗⃗⃗  ⃗ = (
3
1
) and 𝐵𝐶⃗⃗⃗⃗  ⃗ = (

−3
4

) 

The coordinates of 𝐷 are (2, 8). Find the 

coordinates of 𝐴, and the vector 𝐴𝐷⃗⃗ ⃗⃗  ⃗. 
 
 
 

 

 (b) (d) (f) 

𝐴𝐵𝐶𝐷 is a parallelogram. 

𝐴𝐷⃗⃗ ⃗⃗  ⃗ = (
6
1
) and 𝐷𝐶⃗⃗⃗⃗  ⃗ = (

2
4
)  

Given that the coordinates of 𝐴 are (0, 1), 
find the coordinates of points 𝐵, 𝐶 and 𝐷. 

 

 

𝐴𝐵𝐶𝐷 is a rhombus. 𝐶𝐵⃗⃗⃗⃗  ⃗ = (
−3
−4

) 

The coordinates of 𝐴 are (−1, 4) and of 𝐵 

are (3, 1). Find the coordinates of 𝐶 and 

𝐷, and the vector 𝐷𝐶⃗⃗⃗⃗  ⃗. 
 
 
 

 
 

𝐴𝐵𝐶𝐷𝐸𝐹 is a regular hexagon. 

𝐴𝐵⃗⃗⃗⃗  ⃗ = (
4
0
) and 𝐹𝐸⃗⃗⃗⃗  ⃗ = (

2

2√3
)  

𝐹𝐶⃗⃗⃗⃗  ⃗ = 2𝐴𝐵⃗⃗⃗⃗  ⃗. The coordinates of 𝐴 are 

(5, 2). Find the coordinates of 𝐵, 𝐶 and 𝐷. 

 

 
 


